

Chris Christie, Governor I Kim Guadagno, Lieutenant Governor

			T	abulation of B	ids			Page 1 of 9
C	ontract ID: 15418			Counties:	BERGEN, ESS UNION	EX, HUDSON, M	IORRIS, PASS	SAIC, SUSSEX,
Le	tting Date: Septem	ber 24, 2015		District(s): N4				
(Call Order: 418			Project(s):	STATE			
Cont	tract Time: 12/31/1	6 COMPLETION DA	ATE	Min:	Max:			
Con	tract Description:	Maintenance Fence	e Repair Contrac	t, North 2015				
	lo / Item ID Description		(1) IEW CON	STR GP, INC				
	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIC	DN: 0001	ROADWAY		Cat A	It Set:	Cat A	It Member:	
0001	MMG018M	5,000.000	1.00000	5,000.00				
FIELD O	FFICE EQUIPMENT	DOLL						
0002	MMR005M	3.000	1,000.00000	3,000.00				
SPECIA	L MOBILIZATION	U						
0003	MMB091M	150,000.000	1.00000	150,000.00				
	ACCOUNT, LABOR, IENT AND MATERIAL	DOLL						
0004	151006M	1.000	6,274.19000	6,274.19				
	RMANCE BOND AND	DOLL						
0005	152004P	1.000	7,897.28000	7,897.28				
	'S AND CONTRACTO CTIVE LIABILITY NCE	R'S DOLL						



Chris Christie Gover	mor I Kim Guadaono I ieu		abulation of B	ids			Page 2 of 9
Contract ID: 15418			Counties:	BERGEN, ESSE UNION	EX, HUDSON, M	IORRIS, PASS	AIC, SUSSEX,
Letting Date: Septer	mber 24, 2015		District(s):	N4			
Call Order: 418			Project(s):	STATE			
Contract Time: 12/31/	16 COMPLETION DA	ATE	Min:	Max:			
Contract Description:	Maintenance Fence	e Repair Contrac	t, North 2015				
Line No / Item ID		(1) IEW CONS	STR GP, INC				
Item Description Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat A	It Set:	Cat A	It Member:	
0006 605003P	100.000	63.98000	6,398.00				
CHAIN-LINK FENCE, ALUMINUM-COATED STEEL HIGH	., 4'						
0007 605006P	100.000	64.98000	6,498.00				
CHAIN-LINK FENCE, ALUMINUM-COATED STEEL HIGH	., 5'						
0008 605009P	100.000	66.04000	6,604.00				
CHAIN-LINK FENCE, ALUMINUM-COATED STEEL HIGH	., 6'						
0009 605015P	100.000	67.52000	6,752.00				
CHAIN-LINK FENCE, ALUMINUM-COATED STEEL HIGH	., 8'						



Chris Christie Governor I Kim Guadaono Lieutenant Governor

	Chris Christie Gove	mor i kim Guada			abulation of B	ids			Page 3 of 9
С	ontract ID: 15418				Counties:	BERGEN, ESSE UNION	EX, HUDSON, M	ORRIS, PASS	AIC, SUSSEX,
Le	tting Date: Septer	mber 24, 2015			District(s):	N4			
(Call Order: 418				Project(s):	STATE			
Con	tract Time: 12/31/	16 COMPLET	ION DA	TE	Min:	Max:			
Con	tract Description:	Maintenance	Fence	Repair Contract	, North 2015				
	lo / Item ID Description			(1) IEW CONS	STR GP, INC				
	et / Alt Member	Quantity and	Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN: 0001	ROADW	/AY		Cat Al	t Set:	Cat A	It Member:	
0010	605018P	100	000	69.99000	6,999.00				
	LINK FENCE, UM-COATED STEEL	., 10'	LF						
0011	605021P	100	000	66.93000	6,693.00				
CHAIN-L STEEL,	LINK FENCE, PVC-C 4' HIGH	OATED	LF						
0012	605024P	100	000	68.69000	6,869.00				
CHAIN-L STEEL,	LINK FENCE, PVC-C	OATED	LF						
0013	605027P	100	000	70.46000	7,046.00				
CHAIN-L STEEL,	LINK FENCE, PVC-C 6' HIGH	OATED	LF						



Chris Christie, Governor I Kim Guadaono, Lieutenant Governor

	Chris Christie Gover				abulation of B	ids			Page 4 of 9
C	ontract ID: 15418				Counties:	BERGEN, ESS UNION	EX, HUDSON, M	IORRIS, PASS	AIC, SUSSEX,
Le	tting Date: Septer	nber 24,	2015		District(s):	N4			
(Call Order: 418				Project(s):	STATE			
Cont	ract Time: 12/31/	16 COM	PLETION DA	TE	Min:	Max:			
Cont	tract Description:	Mainte	nance Fence	e Repair Contract	t, North 2015				
	lo / Item ID			(1) IEW CONS	STR GP, INC				
	Description t / Alt Member	Quantit	y and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIC	DN: 0001	RC	DADWAY		Cat A	t Set:	Cat A	It Member:	
0014	605033P		100.000	72.40000	7,240.00				
CHAIN-L STEEL, 8	.INK FENCE, PVC-CO 8' HIGH	OATED	LF						
0015	605036P		100.000	76.35000	7,635.00				
CHAIN-L STEEL,	INK FENCE, PVC-CO 10' HIGH	OATED	LF						
0016	605060M		5.000	912.46000	4,562.30				
	HAIN-LINK FENCE, UM COATED STEEL	., 4'	U						
0017	605066M		5.000	1,112.61000	5,563.05				
	HAIN-LINK FENCE, UM COATED STEEL	., 8'	U						



			тт	abulation of B	ids			Page 5 of 9
C	ontract ID: 15418			Counties:	BERGEN, ESS UNION	EX, HUDSON, M	IORRIS, PASS	AIC, SUSSEX,
Le	tting Date: Septen	nber 24, 2015		District(s):	N4			
(Call Order: 418			Project(s):	STATE			
Cont	tract Time: 12/31/2	16 COMPLETION D	ATE	Min:	Max:			
Con	tract Description:	Maintenance Fend	e Repair Contrac	t, North 2015				
	No / Item ID		(1) IEW CON	STR GP, INC				
	Description et / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIC	DN: 0001	ROADWAY		Cat A	It Set:	Cat A	It Member:	
0018	605069M	5.000	1,218.58000	6,092.90				
	CHAIN-LINK FENCE, IUM COATED STEEL,	, 10'						
0019	605072M	5.000	1,318.65000	6,593.25				
	CHAIN-LINK FENCE, IUM COATED STEEL,	, 12'						
0020	605081M	3.000	1,518.80000	4,556.40				
	CHAIN-LINK FENCE, IUM COATED STEEL,	, 16'						
0021	605099M	5.000	1,059.63000	5,298.15				
	CHAIN-LINK FENCE, DATED STEEL, 4' WID	U						



			Т	abulation of B	ids			Page 6 of 9
Contract ID:	15418			Counties:	BERGEN, ESSI UNION	EX, HUDSON, M	ORRIS, PASS	SAIC, SUSSEX,
Letting Date:	September	24, 2015		District(s):	N4			
Call Order:	418			Project(s):	STATE			
Contract Time:	12/31/16 C	OMPLETION DA	TE	Min:	Max:			
Contract Descri	ption: Ma	intenance Fence	Repair Contract	t, North 2015				
Line No / Item ID			(1) IEW CONS	STR GP, INC				
Item Description Alt Set / Alt Membe	er Qua	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001		ROADWAY		Cat A	t Set:	Cat A	It Member:	
0022 605105M		5.000	1,353.97000	6,769.85				
GATE, CHAIN-LINK F PVC-COATED STEEL		U						
0023 605108M		5.000	1,489.37000	7,446.85				
GATE, CHAIN-LINK F PVC-COATED STEEL		U						
0024 605111M		5.000	1,819.03000	9,095.15				
GATE, CHAIN-LINK F PVC-COATED STEEL		U						
0025 605120M		3.000	2,142.81000	6,428.43				
GATE, CHAIN-LINK F PVC-COATED STEEL		U						
0026 605174M		7,500.000	64.75000	485,625.00				
REPAIRING CHAIN-L	INK FENCE	LF						



	Chris Christie Gove	mor i Kim G	uadadno Tiel		abulation of B	ids			Page 7 of 9
С	contract ID: 15418				Counties:	BERGEN, ESS UNION	EX, HUDSON, N	IORRIS, PASS	AIC, SUSSEX,
Le	etting Date: Septer	mber 24, 2	2015		District(s):	N4			
	Call Order: 418				Project(s):	STATE			
Con	tract Time: 12/31/	16 COMP	LETION DA	ATE	Min:	Max:			
Con	tract Description:	Mainten	ance Fence	e Repair Contrac	t, North 2015				
	No / Item ID			(1) IEW CONS	STR GP, INC				
	Description et / Alt Member	Quantity	and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN: 0001	RO	ADWAY		Cat A	It Set:	Cat A	It Member:	
0027	605152M		2.000	4,415.13000	8,830.26				
SLIDINO 12' WID	G GATE, SECURITY I E	FENCE,	U						
0028	802006M		5.000	50.00000	250.00				
	NG EXISTING TREE, 18" DIAMETER	, OVER	U						
0029	802009M		5.000	50.00000	250.00				
	NG EXISTING TREE 24" DIAMETER	, OVER	U						
0030	802012M		5.000	50.00000	250.00				
	NG EXISTING TREE, 30" DIAMETER	, OVER	U						
0031	802015M		5.000	50.00000	250.00				
	NG EXISTING TREE, 36" DIAMETER	, OVER	U						



Chris Christie, Governor I Kim Guadaono, Lieutenant Governor

	Chris Christie Gove	ərnor I Kim (Suadaono Lieu		abulation of B	ids			Page 8 of 9
С	ontract ID: 15418	3			Counties:	BERGEN, ESS UNION	SEX, HUDSON, M	IORRIS, PASS	SAIC, SUSSEX,
Le	tting Date: Septe	ember 24,	2015		District(s):	N4			
(Call Order: 418				Project(s):	STATE			
Con	tract Time: 12/31	/16 COMF	PLETION DA	TE	Min:	Max:			
Con	tract Description:	Mainter	nance Fence	e Repair Contrac	t, North 2015				
	No / Item ID			(1) IEW CONS	STR GP, INC				
	Description ht / Alt Member	Quantity	/ and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN: 0001	RO	ADWAY		Cat A	t Set:	Cat A	It Member:	
0032	802018M		5.000	50.00000	250.00				
TRIMMI 36" DIAN	NG EXISTING TREE METER	, OVER	U						
0033	802024M		5.000	100.00000	500.00				
TREE R DIAMET	EMOVAL, OVER 12 ER	" TO 18"	U						
0034	802027M		5.000	100.00000	500.00				
TREE R DIAMET	EMOVAL, OVER 18 ER	" TO 24"	U						
0035	802030M		5.000	100.00000	500.00				
TREE R DIAMET	EMOVAL, OVER 24 ER	" TO 30"	U						
0036	802033M		5.000	100.00000	500.00				
TREE R DIAMET	EMOVAL, OVER 30 [°] ER	" TO 36"	U						



Chris Christie, Governor I Kim Guadaono, Lieutenant Governor

Chris Christie Governor Kim			abulation of B	ids			Page 9 of 9
Contract ID: 15418			Counties:	BERGEN, ESSI UNION	EX, HUDSON, M	IORRIS, PASS	SAIC, SUSSEX,
Letting Date: September 24,	2015	District(s): N4					
Call Order: 418			Project(s):	STATE			
Contract Time: 12/31/16 COM	PLETION DA	TE	Min:	Max:			
Contract Description: Mainte	nance Fence	Repair Contract	t, North 2015				
Line No / Item ID Item Description		(1) IEW CONS	STR GP, INC				
•	ty and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 RC	DADWAY		Cat Al	t Set:	Cat A	It Member:	
0037 802036M	5.000	100.00000	500.00				
FREE REMOVAL, OVER 36" DIAMETER	U						
0038 605203P	50.000	262.41000	13,120.50				
ROCK CATCH FENCE	LF						
0039 605175M	55.000	150.68000	8,287.40				
BARRIER CURB MOUNTED FENCE	LF						
Section Totals:			\$822,924.96		'		
Contract To	otals		\$822,924.96				
Cost Plus Tim	e Totals		\$822,924.96				
() indicates item is bid as Lump	Sum			1		I	



	Vendor Ranking								
Call Order:	418	Contract ID: 15418	Counties:	BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX, UNION					
Letting Date:	September 24, 2015 10:00AM	District(s): N4 Contract Time: 12/31/16 COMPLETION DATE							
Contract Descr	STATE								

Rank	Vendor	ID/Name	Total Bid	Percent Of Low Bid
1	12943	IEW CONSTR GP, INC	\$822,924.96	100.00%
	C6437	CONSOLIDATED STEEL & ALUM. FENCE CO. INC.	Irregular	

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,